Tableaux des Puissances de Dix (B)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (B) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 0,0001 0,1 0,001 100

17 0,0017 1,7 0,017 1700
90 0,009 9 0,09 9000
55 0,0055 55 0,055 5500
1 0,0001 0,1 0,001 100

47 0,0047 4,7 0,047 4700
X 10 000 0,1 0,001 100

59 590 000 5,9 0,059 5900
14 140 000 1,4 0,014 1400
62 620 000 6,2 0,062 6 200
16 160 000 1,6 0,016 1600
88 880 000 8,8 0,088 8 800
+ 10 0,0001 0,01 1000
76 7,6 760 000 7 600 0,076
37 3,7 370 000 3700 0,037
70 7 700 000 7 000 0,07

54 5,4 540 000 5400 0,054
83 8,3 830 000 8 300 0,083
+ 0,1 0,01 1 000 10 000
71 710 7100 0,071 0,0071
89 890 8900 0,089 0,0089
36 360 3 600 0,036 0,0036
51 510 5100 0,051 0,0051
65 650 6 500 0,065 0,0065
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